


6.77 For the frame and loading shown, determine the force acting on
member ABC (a) at B, (b) at C.
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; WS Midterm Exam 10/17/22
Open notes, calculators allowed, ¢ id table provided on the last pa
- 0 Work neatly and clearly mark your answers, [-:u:tml r:--uln may be given. ll
B voul run out of room for an answer, continue on the back of the p:
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* ) - Statics Midterm Exam 10/17/22
M - C . } 2. (25 points) Find the r location of the centroid. &, of the shape show below. 1
Hint: f;“ — 1) ef Tex, ﬁ l
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51 Planar Conlors of Gravity and Centrokls 239

symmetry does nol necessarily possess o center of symmetry (Fig. 5.6a).
owever, if a figure possesses two axes of symmetry at right angles to each
. the point of intersection of these axes is u center of symmetry (Fig, 5.65),
Determining the centroids of unsymmetrical arcas and lines and of arcas
lines possessing only one axis of symmetry will be discussed in the next sec-
Centroids of common shapes of arcas and hines are shown in Fig, 5,84 and B,
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Fig.5.8A Centrokis of comman shapes of areas.
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6.122 The shear shown is used to cut and trim electronic-circuit-board lami-
nates. For the position shown, determine (a) the vertical component of

the force exerted on the shearing blade at D, (b) the reaction at C.
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6.123 A 100-1b force directed vertically downward 1s applied to the toggle
vise at C. Knowing that link BD 1s 6 in. long and that a = 4 1n., deter-
mine the horizontal force exerted on block E.




